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QUESTION NO: 1 
 

Which statement about the GIF and JPEG file formats is true?
 

A. Both file formats are supported by most Web browsers.

B. Both file formats support layers.

C. Both file formats support transparency.

D. Both file formats support image compression.
 

Answer: A

 

 

QUESTION NO: 2 
 

Armand has been searching the Web for a gift for his son Tomas. Tomas asks to use the

computer. Armand wants to ensure that Tomas cannot see which sites he has visited. What

should Armand do?
 

A. Close the browser,then reopen it.

B. Change the browser home page.

C. Clear the browser history and cache.

D. Disable cookies.
 

Answer: C

 

 

QUESTION NO: 3 
 

Which Internet address class uses 8 bits for the host portion of an IP address and 24 bits for the

network portion of the IP address?
 

A. Class B

B. Class A

C. Class C

D. Class D
 

Answer: C

 

 

QUESTION NO: 4 
 

Which protocol is used at the application layer of the Internet architecture model?
 

A. Address Resolution Protocol (ARP)

B. Hypertext Transfer Protocol (HTTP)
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C. Internet Protocol (IP)

D. Transmission Control Protocol (TCP)
 

Answer: B

 

 

QUESTION NO: 5 
 

Which option does a browser typically allow you to customize after you install the browser

software?
 

A. Advertising banners

B. Sound volume

C. Text size

D. Operating system
 

Answer: C

 

 

QUESTION NO: 6 
 

Which of the following choices is an example of a country-level domain?
 

A. edu

B. ca

C. mil

D. int
 

Answer: B

 

 

QUESTION NO: 7 
 

Which hardware device's only function is to amplify an electronic signal?
 

A. A router

B. A repeater

C. A network interface card

D. A bridge
 

Answer: B

 

 

QUESTION NO: 8 
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Which of the following was a major feature of the ARPANET?
 

A. It was without a central hub so that control was spread throughout the network.

B. It was designed to facilitate international business-to-business commerce.

C. It was a private business venture.

D. It operated from a central hub.
 

Answer: A

 

 

QUESTION NO: 9 
 

Which option does a browser software package typically allow you to customize after you install

the browser software?
 

A. Operating system

B. Advertising banners

C. Font size

D. Sound volume
 

Answer: C

 

 

QUESTION NO: 10 
 

Anna wants to search the Internet for information about network cards with an optical interface.

She enters the following string in a search engine:

 

network card optical

 

This string returns too many results. Which string can Amanda enter to narrow her search results?
 

A. (network card) optical

B. network card NEAR optical

C. etwork cardoptical

D. network optical
 

Answer: C

 

 

QUESTION NO: 11 
 

SET and SSL are two protocols you might use if you are:
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